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IET 430 (Fall 2010)
Homework-5
Total Points: 10
Due date: October 26, 2010, 10:00 PM EST
1. (5 points) If you were to lay out a facility with N = 60 activities, what approach or approaches would you recommend to generate the layout solution? What type of data gathering would you recommend, and do you think there might be a way to decompose the problem into smaller units or sets of activities?
· The approaches I would use are; Facility layout location, VLSI design and other circuit design and communication network problems, regional and land use planning, and other cellular layout and location design problems that concern the optimal assignment of activities to locations are complex combinatorial optimal problems. The types of data needed are; linear placement costs term and a flow placement term. Smaller units can be obtained by using a QAP model.
2. (5 points) Explain the difference between an optimal layout algorithm and a heuristic layout algorithm. When will you recommend a heuristic solution vs. an optimal one?

· Heuristic layouts use more charts, like flow matrices and relationship charts. Optimal layouts are number oriented finding linear placement cost term, using an equation not charts. I would choose heuristic solutions over optimal in some cases. With optimal solutions they need a lot of numerical inputs, heuristic solutions need fewer inputs. So Heuristic solutions would be my first choice. 
